| IBM Software Group

IBM WebSphere® Data Interchange V3.3

Data Transformation Map Trace

© 2007 IBM Corporation

This presentation will review the Data Transformation Map Trace.
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Agenda

= Common user errors

= Mapping error example

= Data errors

= Abends

ation Map Trace © 2007 IBM Corporation

The presentation will cover common user errors and abends.
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Common user errors

= Mapping Error Example:

) Problem: TRIM LEFT OPTION IS TRIMMING THE DECIMAL POINT

> Resolution:

Instead of using TrimLeft("...", "0") the map has
TrimLeft ("...",0) which has a numeric value in
the second parameter. K should be a string.

How would you determine this....

Y
.
R

“Data Transformation Map Trace © 2007 IBM Corporation

With this example it seems the TrimLeft() mapping function is not working properly but the
resolution is the command it not correct. Lets see how you can determine this.
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Common user errors

= Look at the map

= Look at the command syntax in WDI User’s Guide. Appendix B.
= Determine if the command is incorrect

= Try to correct the command or use a different command

= Execute translation to see if the command change works.

If the command syntax is incorrect (user error).

If the command syntax is correct and a different command corrects it
(work-around found).

e
s

“Data Transformation Map Trace © 2007 IBM Corporation

This is a set of steps that can be used to identify if the mapping command is correct.
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Common user errors
= Look at the command syntax in WDI V3.3 User’s Guide. Appendix B.

X File Edit View Document Tools Window Help

P ER oven [l savescon [ Pint @ Email @) Search | 4" [ T8 serect Texi - - @] [(7_ Hisegto ceeme,
P03 ED[E B esoors - |
« [ Options ~ %
£ (L CHapter 1 CreatTy THap Uoje =l
:E: =% Chapter 8. Creating a map
K] [0 Part 2. Data Transformation Maps
7 | B[ Chapter 9. Data Transformation map) Chapter 12. Data Transformation mapping commands and functions
4 [ Chapter 10 Validation mapping 3
2| o In addition to mapping a source element to a target element by using drag-and-drop,
= [ Chapter 11. Functional Acknowledge the Data Transformation Map editor includes a powerful set of commands. Using these
= . you can use logic such as qualify
3 slements, save valuss in variables, create complex expressions, and many other
4 I Map variables = This he used in the Data
3 (5 comments Transformation Map editor to perform these tasks.
(% Keywords Note: Although at the time of release this document contains a complete list of Data =
B Specifying a path Transmrmauon ‘commands, upgrade and maintenance releases can add or
chay . See the Data Client help for an
(% Forward and reverse references um‘s‘, Skl ety
[ Data types supported by mapping
: When you create a map, you are basically creating a sequence of commands. Each
[[% Expressions command Is attached to an object in the source or target document, such as a
G Assignment segment, data element, field, XML element, and so on. Whenever WebSphere Data
- Interchange finds an object in the source or target document, it executes any
0% Conditional commands commands associated with it. You can also add commands before and after objects in
the . The Data these even if
c d P 3
T Commands the elements before and after are not found. You can oreate the commands by dragging
=04 Functions and dropping a source element to a targat e!emem (or a variable) or vice wersa. This
B Char results i a MapTo (!or (for target-based mapping)
being tautsct Vis san Bl praals comironds
[ Concat by ngm-cnr,kmg a node in the map command display to start the mapping command
wizard.
[ Created A
33 Date The following sections describe the and and provides
B DateCry information about other important features of the mapping language. =
3 T 1 b 6.98 x8.98iIn

4 4 159 of 386 bl o ol

TR R T TN - P

3
Data Transformation Map Trace © 2007 IBM Corporation

Appendix B in the WDI version 3.2 User’s Guide contains the format of the Data Transformation
mapping commands and functions. For WDI version 3.3 this is located in Chapter 12 of the WDI
version 3.3 Mapping Guide.
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Common user errors

w

o

S ™ open Saves Copy (g Print @ Emai @i Searcn |2

& []:i SelectText"v]

Qv\j@emz% v®|

a =
He Options v  x “ABC". If the value Is found in the translation table, vart will be set 1o the value in the L
ol o corresponding Standards or Trading Partner Value column.
H ~
E 0% Round TrimLef
§ [ strcomp The TrimLeft function is used to remove unwanted leading characters from a string. The
Lo G StrCompl TrimLeft tunction uses the following format: m—
@ S S6Comed char TrimLeft(char value, [char trimList]) <=
g rCompl
g [ StrcompMI Where:
5 (4 Substring value Is the string value that is to be trimmed.
4 [ Time trimList Is an opticnal string value that Includes all the characters that are to
i be If this is not all leading
4 [ Translate are removed.
S Frimief Boadi
| [ Resuits The re t?u haracter stri
el s resulting cl ter string.
I ample
| Gy Example 2 All characters contained in irimList will be removed from the beginning of the vaiue =1
| s string. The operaticn ends when the first character not contained In fimList is
[ TrimRight encountered. If timList Is omitted, is from the begl of the
Ot : value string. Whitespace includes blanks, carriage returns, line feeds and tab
suicate characters.
{3 Upper
= [ Validate Example 1
@[5 Message propertias : warl = TrimLeft(* ABCD")
(33 Part 3. Send and Receive Maps In this example, var? will equal "ABCD" after the function has been executed.
[ Chapter 13. Send and Receive mapp|
[ Chapter 14. Advanced send and Rec 190  mapping Guide
=% Appendix A. Mapping Binary Data
= [ Appendix B. Hierarchical loops
F3 Ml A 6.98 x 8.98in
|14 <4 208 of 386 L - [ Hi @o

Data Transformation Map Trace

Look at the command syntax for TrimLeft(). The map has TrimLeft("...",0) which is a numeric
value in the second parameter. It should be a string

© 2007 IBM Corporation
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Common user errors

= Mapping Error Example:

> Problem: regote xaction bmg2 not being processed in bmg,

bmg03 is processed in bmg02, bgm03 is reported
missing with TRO0O01l message.

The BGM in the input data is: BGM+311+RQT709+9'

> Resolution:

the BGM element 1004 and 1225 both mapped to the same target element

(\Table 1\10 M BGM\2 M 1004\\)
The 1225 should map the target element
(\Table 1\10 M BGM\3 M 1225\\)

\

How would you determine this....

Y
.
R

“Data Transformation Map Trace © 2007 IBM Corporation

With this example it seems the translation and validation is not working properly but the
resolution is the mapping it not correct. Lets see how you can determine this.
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Common user errors

= Look at the mapping on the BGM
= Check the mapping Rule

= Look at the trace and try to determine inbound or outbound validation
error (TRO0O01)

= Look at the Trace and the Source abstract message after parsing

= Look at the Trace and the Target abstract message after transform
= Try to correct the map

= Execute translation to see if the command change works.

L
‘-!U.Vr.

“Data Transformation Map Trace © 2007 IBM Corporation
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Common user errors

Actions Edit Mavigate View Window Help

B ]| mle] =z

General Detail: | Comments

€ Source: EDI Standard Transaction\EANCOMS7\REQOTE
B8 Table1
+ Table 2
S Table 3

EDI to EDI map

10 M BGM [Beginning of message]

~E3 1M C002 [Document/message name]

2M 1004 [Document/message number]
3M 1225 [Message function, coded]

=i  4C 4343 [Response type, coded]

20 M DTM [Dateftime/period]
30 CFTX [Free text]
40 C RFF Loop [Reference]

(== REQOTE_TEST
--EE% Table 1
=534 10 M BGM [Beginning of message]
= -E3€ 1M C002 [Document/message name]
H =% 1M 1001 [Document/message name, coded]
@ 2 C 1131 [Code list qualifier]
=% 30 3055 [Code list responsible agency, coded]
— 7% 40 1000 [Document/message name]
e @ 2 M 1004 [Document/message number]
*wl  MapTo (\Table 1110 M BGM\2 M 1004\)
== 3M 1225 [Message function, cod
g MapTo (\Table 1410 M BGM\2 M 1004\)
—i % 4C 4343 [Respanse type, coded]
Z25@ 20 M OTM [Date ftime fperiod]
2 30 CFTX [Free text]
-3 & 40 C RFF Loop [Reference]
2@ 60 C CUX Loop [Currendies]
2@ 80 CPAT Loop [Payment Terms Basis]
{3 100 C TOD Loop [Terms of delivery or transport]
-3+ 120 C NAD Loop [Name and address]
2@ 160 C TOT Loop [Details of ransport]

Global Variable Name |

StopSeq
OverseasDepartur. ..
Headerfinal
GreupCentrelNumber
d

WCMAP308Interch. .
mmiboolgrouptrue
HeadersTo2

Boolean

WCMAP 308Session. ..
Sponsorld

pydseq

TRACETT
TotaNumEmployees
te

st
DoMapChain
BVAR

SubscriberMName
Real_HOST
pysseq

Look at the mapping for the BGM segment.
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Common user errors

Bl e

i~ Inbound Opti ~ Dutbound O pti

Walidation Level |! - Validation Level

Alphanumeric 0 ata \V slidation Tabls

Character Data Validation Table
Walidation Map

on
idation

Transformation Dptio / mdgemanl Oiptic

#eceptable Enor Level o = " Bcknowledament Expected

Contral Numbers by Trans 1D = / Group Lewel Functional Ack. Only
Functional Acknowledament Map

/ Eunctional &cknowledgement Ervelops

(TWE

Inbound and Outbound validation

Indicates that the Validate Node trace
statements could have been from
inbound or outbound validation

[
B 5 o O SO TR e Ty = Eiides H:;’av
@ [ [ oo - CE M. | @0 [@c. [o.. | 2w [t (@ ] 58 ms

Data Transformation Map Trace © 2007 IBM Corporation

Check the mapping Rule. Inbound and Outbound validation indicates that the Validate Node
trace statements and the TR0O001 message can be from inbound or outbound validation.
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CO mm 0 n u Se r e I‘I‘O I‘S Problem Description (The Trace!)

—

= Mapping Error Example:

The trace shows that the BGMO2 is not being processed and that
WDI thinks the '9' found in BGMO3 is in BGMO2 and that BGM03 is missing:

VAICL: begSegment: level 0, node BGM, EDI elements FOUND

VAICL: validateSet: ......... BGMO1 (N) (level 1) BGM+311+RQT709+9
VAICL: begSubelement: SubElement started

VAICL: validateSet: ............ BGMO0101 (NV) (level 2) index 2

VAICL: validateElement: element name BGM0101 VALID

VAICL: Leaf node reached at BGM0101, value "311"

VAICL: endSubelement: reached end of subelement BGM0101

VAICL: validateSet: ......... BGM02 (NV) (level 1) index 3

VAICL: validateElement: element name BGMO2 VALID

VAICL: Leaf node reached at BGM02, value "9"

VAICL: endSegment: reached end of segment # 2, id = BGM02 ‘(””"

VAICL: CheckMandatoryElements: mandatory element BGMO03 not found in segment 1

VAICL: CheckMandatoryElements: element info BGM0300 required = M

ata Transformation Map Trace © 2007 IBM Corporation

The trace shows that the BGMO02 is not being processed and that WDI
thinks the value '9' found in BGM03 is in BGM02 and that BGMO03 is
missing. VAICL: is the component for the WDI Validate Node.
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Common user errors

trace_out - WordPad
Edit

File Insert Format Help

=

DR S M & EBE - B

size 234
4F4D3937

20202020

20202020 1
20202020
SF544553
69656353

MBCB at entry: (0012d603),
:60EFEQOQ 53010000 459¢14E43
:20202020 20202020 20202020
120202020 20202020 20202020
:20202020 20202020 20202020
120202020 ¢5205225 514F5445
:54202020 20200000 00006564

ia.f...EANCCOM27|

I

E REQOTE_TES|

....ediec3|
az

Find what

TROOO1
[ Match whole word oy
[IMatch case

00ETT
00F0:20202020
0100:20202020
0110:20202020
0120:20202020
0130:20202020
0140:00000000
0150:00000000
0160:00000000
0170:00000000
0180:46532020
0150:20202020
01A0:4E000000
01B0: 4E000000
01C0:00000000
01D0: 4E002020
01ED:4ES54D00
- State info at entry:
GEI THE INPUT PARMS:
Dictionary name (EANCOMST )

Document name [ ¥

20202020
20202020
20202020
20202020
20202020
o0ooo000
00000000
o0ooo000
00000000
sg94ES920
20202020
o0ooo000
00000000
o0ooo000
20202020

20202020
2oz20z2020
20202020
2oz20z2020
20202020
oooogooo
00000000
oooogooo
00000000
2oz20z2020
52534E20
oooogooo
00000000
oooogooo
30202041

20202020
20202020
20202020
20202020
20202000
00000000
00000000
0ogoo000
45444946
2020204E
1E000000
00000000
00000000
00000000
4Cc504841

(00000000), size

B fen 11:51AM
@eli]  Friday

r @1 7 frd =]
B

-l @éz ;] B - @ | m

Data Transformation Map Trace

© 2007 IBM Corporation

Look at the trace and try to determine inbound or outbound validation error (TR0001).

IBM Software Group
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Common user errors

File Edit View Insert Format Help

D SR M4 426 B |

VAICL: displaySubTree:
VAICL: displaySubTree
VAICL: displaySubTree:
VAICL: displaySubTree:
VAICL: displaySubTree: TAXO1 (NV) (level 3) CHAR = "7"
VAICL: displaySubTree: . ; | (M) (level 1)

VAICL: displavSubTree: . ALC (M) (level 2)

-.PRIO1 (N) (lewvel 3)
PRIC101 (NV) (level 4) CHAR = "AAR"
(H) (level 1)

(M) (level 2)

VAICL: displaySubTree ..ALCO1 (NV) (level 3) CHAR = "A"
VAICL: displaySubTree: (level 0)

VAICL: displaySubTree UNSO1 (NV) (level 1) CHAR = "S"

VAICL: displaySubTree: (level 0)

VAICL: displaySubTree CNTIO1l (M) (level 1)

VAICL: displaySubTree CNT0101 (NV) (level 2) CHAR = "2"

VAICL: display5ubTree: ......... CNT0102 (NV) (level 2) DECIMAL = "1"

VAICL: begSet: entering for control number (null)

VAICL: begSet: first set —- set count for group is 1 set count for envelope is 1
VAICL: begSet: exiting

VAICL: validateSet: ......BGM (N) (level O)

VAICL: FindSegment: looking for BGM at level 0, current level 0O

VAICL: FindSegment: current level 0 seg = "BGM =

VRICL: validateSer: segment BGM found in table
VAICL: begSegment: Segment # 2, id = BGM stazrted

VAICL: begSegment: level 0, node BGM, EDI elements FOUND
VAICL: validateSet: . (M) (lewvel 1)

VAICL: begSubelement: SubElement started

VAICL: validateSet: (NV) (level 2) index 2
VAICL: validaceElement: element name BGMO101 VALID
VAICL: Leaf node reached at BGMO101, value "311%
VAICL: endSubelement:
VAICL: validateSet:
VAICL: validateElemen
VAICL: Leaf node reached at BGMO2,
VAICL: endSegment: reached end
VAICL: CheckMandatoryElements4 mandatory element BGMO3 not found in segment 1

VAICL: CheckMandatorvElements: element info BGMO300 reguired = M EleCur = "BGM e
EDIUTLOG: Message ID: [BROO0M, Severity: 8, File: C:\NE32\srcl\edivaicl.cpp, Line: 6252
trnTeT - .

BAMA hoe miseina mandaroro elomente

® [ mc @ | g2n | en [Be] . T

3
Data Transformation Map Trace

© 2007 IBM Corporation

Look at the trace and try to determine inbound or outbound validation error (TR0O001). Begin

paging up looking for entry for Validate Node Execution.

IBM Software Group
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Common user errors

D=k SR # % BE- @ |
5 PRIOD1 (M)
........ PRIO101 (WV) = (char) "Aaa'

....... TAXO1 (NW) = (char) '7'

......... ALCO1 (NV) = (char) '&A'

UNS01 (NV) = (char) 'S*

= (cnar) '2'
CNT0102 (NV) = (decimal) '1°*
EDIMBCNI: Calling next node (DIVOUNode) in message flow.
MBFLW: Enter CHMsgFlowNode::Evaluate
MBFLW: Enter CNodeGlass::Evaluate
VALCN: entering valEvaluate V3.0
: calling validateMessage from valEvaluate
: Entering validatelMsg for output validatien, trace level 2
initMetaData: set = "EANCOMS7"
: initMetaData: type = "REQOTE"
: inicMetaData: fmt = "edi”
: GetInCutParms: ErrLevel 0O
: GetInCutParms: ValLevel 2
: GetInCutParms: AlphaNum ALPHANUM
: GetInCutParms: TPSndrNickname TESTSENDER
: GetInOutParms: TPRcwrNickname TESTRECEIVER
: STD CS Name (EANCOMSTREQOTE)
: Entering GetSIDCS
VAICL: Calling LoadGs for EANGOM97REQOTE
EDIUPCSD: Enter LoadCs
EDIUPCSD: Rectrieving rows for map EANCOMSTREQOTE
EDIUPGSD: The SQL Code: O
EDIUPCSD: outbsize 23812
EDIUPCSD: Rllocating 23812 bytes for CS buffer

NOTE: valEvaluate

All Nodes have an Evaluate()
function. Tracing entry and exit of
functions should be putting
something similar to this in the
trace.

Outbound validation is executing

This means the error occurred after
transformation.

<] I

ata Transformation Map Trace

© 2007 IBM Corporation

All processing Nodes have an Evaluate() function. Tracing entry and exit of functions should be
putting something similar to this in the trace. Outbound validation is executing. This means the

error occurred after transformation.

IBM Software Group
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Common user errors

File Edit View Insert Format Help

D S 44 4L =@ B

..... BGMO101 (NV) = :warN
BeMoz (NV)

o = (char) 's'
DTM (N)

..DTMOL (M)

...DTMO0101 (NV) = (char) '137'
...DTM0102 (NV) = (char) '19970101"
...DTMO103 (NV) = (char) '102'

.PAT_LOOP (M)

....BAT ([H)

....... PATO1 (NV) = (char) '1'

......... FILENAME (NV) = (char) °
. .FILETYPE (NV) = (chaz) '
.GREAFPRCVRID (NV) = (char) *
.GRPAPPSNDRID (NV) = (char) '
.GRPLVLFA (NV) = (chax) 'N'
.GRPPSWD (NV) (chaxr) '
.ICHGUSGIND (NV) = (char) 'T'
-VALERRLEVEL (NV) = (chaz) 'O'
.VRALLEVEL (NV) = (chax) '2°'
.VALMRP (NV) = (chaxr) ' .
...TPSndrNickname (NV) = (char) 'TESTSENDER
- ..TPRovrNickname (NV) = (char) 'TESTRECEIVER
-ICHGSNDRID (NV) = (char) 'TESTSENDER
.ICHGSNDRQL (NV) = (char) 'ZZ
.ICHGRCVRID (NV) = (char) 'TESTRECEIVER
-ICHGRCVRQL (NV) = (char) 'ZZ
.SEGOUTPUT (NV) = (char) '¥'
.NETPRCFID (NWV) = (char) 'EDI
. .FASEGOUTPUT (NV) = (char) '¥'
-«++.....FANETPROFID (NV) = (char) 'EDI 2
- ..body (N)

The Target abstract message from
each node becomes the Source
abstract message for the next node in
the message flow

© 2007 IBM Corporation

Look at the Trace and the Target abstract message after transform. Keep paging up in the
trace. The Target abstract message from each node becomes the Source abstract message for

the next node In the message flow.

IBM Software Group
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Common user errors

File Edit View Insert Format Help

Ded @ 4 &+ =@

TSUPD:
TSUPD:
TSUP!
TSUTL:
oooo
o010
ooz20

iWriteTH exit
iWriteAlU entry

CISDeenvNonEDIUpdete:
CTSDeenvNonEDIUpdate:
CTSDeenvNonEDIUpdate:
Adding TS record:
141484920 53202020 20040420
100002020 00000000 S245514F
120202020 20202020 45444946
0030:20202020 20202020 32303034 30343230 |
0040:31353030 33382020 00000000 20202020 150038
TSUPD: CISDeenvNonEDIUpdate::WriteAU exit

TSUPD: CISDeenvNonEDIUpdate::EndTrx exit

TSUPD: DoTargetRecords exit

TSUPD: CTSDtcUpdate::EndTargetMsg exit

EDIUTDTC: UpdateTSTarget exit
EDIMSCNI: Enter cniPropagate
EDIMSCNI: Propagating te termin
EDIMBCNI: Display tree and all chil
ROOT (M)

...Properties (N)

USR (M)

185008845 |RHI S
54452020 ..
46532020 |

ame (SUCCESS) .
s

:WriteAU - Completed TrxApp block:

|
REQOTE |
EDIFFS |
200404201

3 1

. -DBSYSTEM (NV) = (char) "'°* il
S BBeiiN [NRY = Hcbard tefieciZad
o At _ Hefe§ TDaEatubercimac The Target abstract message from
Tere o = Remned REGORR each node becomes the Source
b Y = chars Tenis .
mput () ~ abstract message for the next node in
HAPNAME (NV) = (char) 'REQOTE_TEST
Reriin (M) - (cnes) .EDTEES: the message flow — cniPropagate()
TSACTIVE (MV) = (char) ‘'Y*
TSIMAGE (NV) = (char) 'N'
« .ISFAIMAGE (NV) =
« «SAPACTIVE (NV) =
......... CDACTIVE (NV) = idﬁar) x
3| = — I =)

Data Transformation Map Trace

© 2007 IBM Corporation

The cniPropagate() indicates the Target message from the current node processing is going to
the next node and will become the Source message for the next processing node.

IBM Software Group
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trace.out - WordPad

Edit View Insert Format Help

Common user errors

LEE

D= S M4 @ |- &

0000: 60EFEQOD 83010000
20202020
20202020
20202020
45205245
20200000

———— MBCB at encry: (0012d608),

45414E43
20202020
20202020
20202020
S14F5445
00006564

size = 484 ———

4F4D3937 *ia.f...EANCOM97|
20202020 1
20202020 1
20202020
S5F544553
69656333

1
E REQOTE_TES|
T -...ediee3|

2| i

ooad| findwhat:  [Input (

| [_Find Next ]

o
oos0| (] Match whole word anfy

[ Match case.

00F0:20202020 20202020
0100:20202020 20202020

20202020
20202020

20202020
20202020

0202020 20202020
0202020 20202020
0000000 00000000

20202020
20202020
00000000

20202020
20202000
00000000

0160:00000000 00000000
0000000 00000000
6532020 S599E5920
0202020 20202020

oogooooo
00000000
20202020
53585420

goooo000
4saeg9046
2020204E
1E000000

E000000 00000000
01C0:00000000 00000000
01D0:4E0D2020 20202020
01E0:4E554D00

EDIMB: Document name (

———— State info at entry:
EDIMB: GET THE INPUT PARMS:
EDIMB: Dictionary name (EANCOMS7

00000000
00000000
30202041

00000000
00000000
4cs02841

(00000000}, size = 44 ———

Data Transformation Map Trace

© 2007 IBM Corporation

Look at the Trace and the Source abstract message after parsing. Go back to the top of the
trace and do some searching. You can search on the value “Input (“ to find the abstract
message for each processing node.

IBM Software Group

Page 17 of 14



IBM Software Group

Common user errors

File Edit view Insert Format Help

DEE SR A % 2@ &

(chaxr) 'Datal .
E:;har}J Find

(char]
(char)

Find what: [Input {

[ Match whole word oy

[1Match case

(2 )
DEENVONLY (NV)
TesthAsProd (HV)
DICNEME (NV)
alphanum (NV) = (char)
PROCDUPENV (NV) = (char)
MBFLOW (NV) = (char) 'NO
- SRCSYNTAX (NV) = (chax),
-..body (N} - (Incomplete)
EDIMB: Exit CreateSourceMsg
EDIMS: Call eniEvaluate on the first nede in the flow:
MBFLW: Enter CMsgFlcwNode::Evaluate
MBFLW: Enter CNodeClass::Evaluate
EVDCH: Enter deenveloper node cniFEvaluate
EVICL: deenvelopeMsg pluginDataLoaded = O
(C:\NE32\src\edievicl.cpp:S35)

EVICL: calling loadPluginData from deenvelopeMsg
EVICL: Enter loadPluginData
EVICL: inside loadPluginData

<] m

Body (incomplete) = not parsed yet

il &l

Data Transformation Map Trace

Begin paging down and executing Find until you see the abstract message.

IBM Software Group
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Common user errors

......... ICHGCTLNUM (NV) = (char) '6&°'
..UNB11l (NV) = (char) "1°

.ICHGGRPCNT (NV)} = (char) '1°
.UNZ02 (NV) = (char) &'

LIl Irsnarnickname (NV) = (char) 'TESTSENDER
Fna ="
C.. Fndwhat: [input | [_Find Next |

_ | [ Match whole word onfy

- | [ Match case

Luo WYy — (onEip  Eswous

01 (NV) = (char) 'ia’

-TRXSEGCNT (NV) = (char) '18"

.UNTO2 (NV) = (char) 'ME0O00O001'

.THANDLE (NV) = (char) '2004042015003
e

. ENDGRE

.. .bady (N}
...... EDIMSG (M)
©. . BGM (M)

(NV) — (chaz) '311°'
= (char) 'RQT708"

— (chaz) '8’

(NW) = (char) '137'

Body (incomplete) = not parsed yet

ata Transformation Map Trace

© 2007 IBM Corporation

Since the Body element does not say incomplete, the first message in the input has been

parsed.

IBM Software Group
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Common user errors

(char) '0°*

...... BGMO101 (NV) = (chax) '"311°
...BGMO2 (NV) = (char) 'RQT7OO" \
. .l3@M0s (V) = (enaz) ‘st

..DTM (M)

...DTMO1 (M)

...... DTMO101 (NV) = (char) '137'
...DTM0102 (NV) = (char) '19970101°
...DTMO103 (NV) = (char) '102°

shows the input parsed ok

..... PAT (N)
........ PATO1 (NV) = (char) '1°
..TOD_LOCP (M)
...TOD (W)
........ TODO1 (MV) = (char) '6'
. .NAD_LOGP (N}
HaAD

(H)

...HADO1 (NV)} = (chazr) 'B¥' 9 1 1 9
S 5 data? Is there a mapping issue?
«..NADO201 (NV)} = (char) '54212345000013"

...... MARDO20Z (NV) = (chax) '2°7

SEh oo (n

CTA (M)

...CTRO1 (NV) = (char) 'IC'

.. .CTROZ (N)

...... CTR0202 (NV) = (char) 'N SCHULTE'
coM (M)

.CcoMO1 (M)

ox ...-COMO101 (NV) = (char) "0033154768212°'
..................... COMO102 (NV) = (char) °FX

e Warar e T e
File Edit View Insert Format Help
DS SR #4 & @ B

(char} '1°

The Source Abstract Message after parsing

Is there a parsing code problem? Does the
metadata definitions match the input/output

© 2007 IBM Corporation

The abstract message (AMM) is a hierarchical representation of the source (input message)
and target (output message). The source and target metadata definitions (XML, DF, Standard)

can be viewed using Client and the structure and parsing can be verified.

IBM Software Group
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Common user errors

General Details | Comments

=% 1M 1001 [Document/message name, coded]
=% 2C 1131 [Code list qualifier]
— % 30 3055 [Code list responsible agency, coded]
— % 40 1000 [Document/message name]
= @ 2 M 1004 [Document/message number]
— MapTo (\Table 1410 M BGM\2 M 1004\)
=% 3M 1225 [Message function, coded]
‘il MapTo (\Table 1110 M BGM\Z M 1004\)
—% 4C 4343 [Response type, coded]
20 M DTM [Date ftime fperiod]
30 CFTX [Free text]
40 C RFF Loop [Reference]
60 C CUX Loop [Currendes]
80 C PAT Loop [Payment Terms Basis]
100 C TOD Loop [Terms of delivery or transport]
120 C NAD Loop [Name and address]
-3 @ 160 C TOT Loop [Details of transport]

GroupControlNumber

d
WCMAR308Interch. .,
mmiboolgrouptrue
HeadersT02

Boolean
WICMAP308Session. ..
Sponsorld

pydseq

TRACEIT
TotalNumEmployees
test

s
DoMapChain
BVAR
Subscriberiame
Real_HOST
pysseq
mmltesty

W]

=9 ce: EDI Standard Transaction\EANCOMS F\REQCTE B [~]
Table 1 [ 10 M BGM [Beginning of message]
Table 2 1M €002 [Document/message name]
Table 3 2M 1004 [Document/message number] =
3M 1225 [Message function, coded]
4C 4343 [Response type, coded]
20 M DTM [Date/time/periad]
EDI to EDI map 50.C P [rree text]
40 C RFF Loop [Reference] [»]
== REQOTE_TEST || [ Global variable Mame [[~] [ Local v [ Spe
Ol Stopseq cIo
=334 10 M BGM [Beginning of message] OverseasDepartur... | = DIO
ES4 1M Co02 [Decument/message name] Headerfinal DIct

les = % 100%

L [ g5 0]

© 2007 IBM Corporation

Look at the mapping again for the BGM segment. BGMO0S3 is mapping to the same target

element as BGMO02.
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Common user errors

rchange
File Actions Edit Navigate View Window Help

B (B @

1
o
X

=1 IS N e = e =

General Details | Comments

Source: EDI Standard Transaction \EANCOMS 7REQOTE i Table 1
Table 1 H &= 10 MBGM [Beginning of message]
Table 2 i B  1MC002 [Document/message name]
Table 3 =i  2M 1004 [Document/message number]
i =  3M 1225 [Message function, coded]
+ —f  4C 3343 [Response type, coded]
20 M DTM [Date//time period]
30 CFTX [Free text]
40 C RFF Loop [Reference]

S

Global Variable Nam:

REQOTE_TEST.
EB® Tabe 1 ] StopSeq
= - & 10MBGM [Beginning of message] OverseasDepartur...
= -ES% 1M C002 [Document/message name] Headerfinal
=@ 1M 1001 [Document/message name, coded] GroupControlMumber
=/% 2C 1131 [Code list qualifier]
—7& 30 3055 [Code list responsible agency, coded] :“'rﬁlr;‘:-’ff:"ﬁ:“ -
=% 40 1000 [Document message name] Haader?gmzp
i@ 2M 1004 [Document/message number] T
“owl  MapTo (\Table 1110 M BGM2 M 10041) WCMAP 308Sessio
Sponsorld

[=F =@ 3M 1225 [Message function, coded]
ol pydseq
TRACETT

=% 4C 4343 [Response type, coded]

=@ 20 M DTM [Date/time/period] TotalNumEmployees

SE3 30 C FTX [Free text] test

@ 40 C RFF Loop [Reference]

2@ 60 C CUX Loop [Currencies] SubscriberName
(@ 80 C PAT Loop [Payment Terms Basis] Real_HOST
(@ 100 C TOD Loop [Terms of delivery or transpart]
~C& 120 C MAD Loop [Name and address]

2@ 160 C TOT Loop [Details of transport]

DoMapChain
BVAR

© 2007 IBM Cérporation

Corrected Map.
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Common user errors

Data errors
* The most common data errors are:
* Input/output does not match the metadata definition

* With DF input and AIX or Windows execution, it is that the input data
contains CR/LF and the DF definition in WDI Client says it does not.

Y
.
R

“Data Transformation Map Trace © 2007 IBM Corporation

The most common data errors are when the input or output does not match the metadata
definition.

IBM Software Group Page 23 of 14



IBM Software Group

Common user errors

File Edit Format View Help

[lAudit Trail Report —Datalnterchansze Utility— Date: 0412717 Time: 15:33:19 Page: 00001

FF0588 Command: PERFORM TRANSFORM WHERE INFILE (INFILE) OUTFILE(OUTFILE) MAPID(S—DT—ADF-TO-XML)} SYNTAX (D}
DICT IONARY (SAP40-ORDERSO1_DICT IONARY) DOCUMENT (DTSAP40RD) TRACELEVEL (A3)

Message: RUODO3 Severity
T

usage indicator P, document DTSAPA0RD, dictionary name SAP40-ORDERSO1_DICTIONARY, syntax adf.
Message: UP0D23 Severity: 08

The data received has exceeded the maximum repetitions specified. Record number was 3. Data ldentification was

POHDR_LOOP and max imum repetitions was 1.

wwkk File: C:\NESZ\src\ediupadf cpp Line: 1708 Func: n’a
Message: UP0OZ1 Severity

Unable to identify the input data record. Record number was 14. Data Imase 0C-LI-01.

#wak File: C:WNE32\sreediupadf. cpp Line: 993 Funme: n/
Message: UTO008 Severity: 0O

Map name beins processed: S5-DT-ADF-TO-X!

FFO0O7 Data was written to QUTFILE. Messase contrel number or document id was . UP0021 message

Message: RUODO3 Severity
T

usage indicator P, document DTSAPA0RD, dictionary name SAP40-ORDERSO1_DICTIONARY, syntax adf.
Message: UPDO23 Severity: 03
The data recsived has excesded ths maximum repstitions spscified Record number was 3 Data ldsntification was
POHDR_LOOP and max imum repetitions was 1.
wwkk File: C:\NEBZ\src\ediupadf cpp Line: 1708 Func: n’'a
Message: UP0OZ1 Severity

Messase: UTOD0S Severity: 0O
ap name being processed: S-DT-ADF-TO-XI

W \
FFO0O7 Data was written te OUTFILE. Messase control number or document id was .

Message: RUODO3 Severity
T

usage indicater P, document DTSAP4ORD, dicticnary name SAP40-ORDERSO1_DICTIONARY, syntax adf.
Message: UPDO23 Severity: 03
The data recsived has excesded ths maximum repstitions spscified Record number was 3 Data ldsntification was
POHDR_LOOP and max imum repetitions was 1.
#obkk File: C:\NE3Z\srchediupadf cpp Line: 1708 Func: n/a
Message: UPDO21 Severity: 03
Unable to identify the input data record. Record number was 14. Data Imase 0CG-LI1-01.
#ak File: G WNE32\sro\ediupadf cpp Lins: 993 Func:
Messase: UTOD0S Severity: 0O
Map name being processed: S-DT-ADF-TO-XML.

FFOO07 Data was written to OUTFILE. Message control number or document id was

oo
he best rule match for the document was: map name T-DT-ADF-TO-XML. sendine TP nickname ANY receiving TP nickname ANY.

D Indication of data error

oo
he best rule match for the document was: map name T-DT-ADF-TO-XML. sendine TP nickname ANY receiving TP nickname ANY.

o
Unable to identify the input data record. Record number was 14. Data Imase 0C-L1-01. 3 3
#ax File: G:\NE32\src'ediupadf. cpp Line: 993 Func: n/'a Indication of data error

Check DF metadata definition

oo
he best rule match for the document was: map name T-DT-ADF-TO-XML, sendins TP nickname ANY, receiving TP nickname ANY, L4

o f " ] Ed
J©: -[m: (@

Bty uasem

A
Data Transformation Map Trace

© 2007 IBM Corporation

This is a sample print file PRTFILE. The UP0021 messages are from the parsers and could be

an indication of data errors.
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ommon user errors

(B[

File Edit view Insert Format Help
D=l SR & ¢ B @ Look for strange error messages

Curzent Loop-ID and zepecicions
Message: RUOC003 Sewverity: 00
The best rule match for the document was: map name DTS5 TEST _EDI_OUT, sending TP nickname TSTEST1, receiwving TP nickne
TSTEST1, usage indicater P, document DITSTEST, dictionary name TSTEST DICTIONARY, syncax ade.
Message: UT0008 Severity: 00
Map mame being processed: DTS TEST_EDI_OUT.
Message: TRO003 Sewverity: 04

IIT(030) - 8 - 0 - EOS - (3, o)A

£4III — 1 — 1 - 1. Standard segment and field ID

Data element is too short. Internal Trading Partner ID and Data Format = TSTEST1/TSTEST1, X12V3R7271. Transaction
nandle, code, mode, and function = output validation. Interchange, group and transaction control numbers = (not
assigned). Current Loop—ID and repetitions = &2NM1 — Standard segment and field ID = DTP(015) — 6 - 15 — 2 — (2,
Epplication field ID = NA. Data type and value = DT.

Message: TROO10 Severity: 04
The standard defines data elements III01, III02 agfpaired, but the transaction includes only III01. If one is preser
211 must be present. Internal Trading Partner IDgEnd Data Format = TSTEST1/TSTEST1, X12V3R7271. Transaction handle,
code, mode, and function = output validation. erchange, group and transaction control numbers = (noT assigned) .
Current Loop-ID and repetitions = &4III - 1 —f - 1. Standard seoment and field ID = III(030) - 8 - 1 — EOS - (3, 0).

Message: RUO0D03 Severity: 00
The best rule match for the document was:
TSTEST1, usage indicator P, document DTTS;

Message: UTO008 Severity: 00
Map name being processed: DTS_TEST_EDT

Message: TROOj2Z Severity: 04
Mandatory segment missing. Internal
handle, code, mode, and function =,
assigned). Current Loop-ID and re

Message: TROOS2 Severity: 04
Mandatory segment missing. Ing
nandle, code, mode, and func
assigned). Current Loop-ID

Message: TRO0S3 Severity: 04
Mandatory sSegment missing. Internal Irading Partner ID and Data Format = TSTEST2/TSTEST1, X12V3R7270. Transaction
handle, code, mode, and function = output validation. Interchange, group and transaction control numbers = (not
assigned). Current Loop-ID and repetitions = &1HL - 12 - 1 — 1. Standard segment and field ID = NM1.

Message: TROOS2 Severity: 04
Mandatory segment missing. Internal Trading Partner ID and Data Format — TSTEST2/TSTEST1, X12V3R7270. Transaction
nandle, code, mode, and funetion = output validation. Interchange, group

name DIS_TEST_EDI_O2, sending TP nickname ANY, receiving IF nickname
dictionary name TSTEST DICTIONARY, syntax adf.

ading Partner ID and Data Format = TSTEST2/TISTEST1, X12V3R7270. Transactien
utput validation. Interchange, group and transaction control numbers = (not
titions = &1HL - 10 - 1 — 1. Standard segment and field ID = NM1.

nal Trading Partner ID and Data Format — TSTEST2/TSTEST1, X12V3R7270. Transaction
on = output validation. Interchange, group and transaction control numbers = (not
d repetitions = &1HL - 11 - 1 - 1. Standard segment and field ID = NM1.

and transaction control numbers (not o
~

=l m

For Help, press F1

2:04PM
Friday

[1]
Q! 1/14/2005

Data Transformation Map Trace © 2007 IBM Corporation

The parsers may not always be able to identify data errors so also look for strange error
messages from other processing nodes. For example: Validation and the TR messages.
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Check the input data with a Hex editor
/ A |
Execution\TATTEST.APPLIN] - frhed Y4 \ e
File Edit View Options Bookmarks Help
oooooo 30 30 31 54 53 54 45 53 4 3 20 54 53 54 5 53 54 3 31 20 31 ST1 TSTEST1 ACO001 1 =
39 29 25 31 32 22 21 52 55 4 1 20 20 20 99501 1995123 1SUPSCRIEBERL
20 20 20 20 20 53 55 42 31 2 39 30 34 32 1 SUE1 13439042
20 20 53 55 42 31 20 20 20 2 31 39 44 45 3DEFP1 SUB1 19590419DE
55 42 31 20 20 20 20 20 31 3 45 50 34 20 3 UB1 19960705DEP4
20 20 20 20 20 21 29 29 34 3 20 20 20 20 =] 19940521DEPS
20 20 31 39 39 33 31 31 30 3 o 20 20 53 55§ SUE1 19931102DEF& suU
39 39 38 31 36 30 33 44 45 5 20 55 42 31 20 Bl 9981603DEP? SOB1
30 34 30 33 44 45 50 38 20 42 20 20 20 20 198R30403DEPS SUBL
32 44 45 S0 39 20 20 20 20 o 20 20 20 21 29 198702 Pa TEL 19
E0 %1 30 20 20 20 20 53 EE 20 20 39 39 37 20 0203 20D] SUE1 19870
20 20 20 20 53 55 42 31 20 2 39 38 30 33 32 34 403DEFP11 SUB1 19800324
20 53 55 42 31 20 20 20 20 2 31 32 32 44 45 50 DEI] 2 UB1 1997121 2DEP
42 21 20 20 20 20 20 21 39 2 20 44 50 31 24 20 1z 19070220DEP14
20 20 20 20 31 39 30 34 30 3 50 31 20 20 20 20O SUEL 19040406DEFP1S
20 31 39 38 37 30 39 32 32 2 30 30 54 53 54 45 1 9870922 001TSTE
53 54 31 20 20 20 41 43 30 39 39 30 31 30 31 5T1 TSTES ACOODZ2 19350101
52 S5 42 53 43 52 49 42 4% 20 20 20 20 44 45 S0 199512219 SCRIBERZ DEP
42 32 20 20 20 20 20 31 39 30 33 44 50 31 20 20 B 2! 194904 23DEP1
20 20 20 20 31 39 35 30 30 1 39 50 33 20 20 20 20 SUB2 19500419DEP3
20 31 39 39 36 30 37 30 35 45 50 20 20 20 20 53 55 42 SUBZ2 1 60705DEP4 SUB
29 24 30 35 33 44 45 50 20 20 20 20 53 42 32 20 20 1994 Z1DEFS UEZ
31 30 32 20 20 20 20 20, o zo zo 20 z0 20 20 20 20 20 19931102
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 0 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 zZ0 20 zO 20 zO0 z0 20 zZ0 20 zO
20 z0 20 20 20 20 o 20 20 20 20 20 z0 20 20 20 20 20
20 20 20 20 20 20 o 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 Zo 20 20 20 20 20
20 z0 20 20 20 20 o 20 20 20 20 20 zo 20 20 20 20 20
20 20 20 20 20 0d Oa 30 30 31 54 53 54 45 53 54 32 20 54 53 54 OD0D1TSTEST2 TST
432 20 20 30 33 20 21 29 39 35 20 21 30 31 21 29 29 35 3J1 22 22 EST1 ACO002 199501011995123
42 45 52 33 20 20 20 20 20 20 20 44 45 50 31 20 20 20 20 20 53 1SUBSCRIBERZ DEF1 =
31 39 34 39 30 34 32 33 44 45 50 31 20 20 20 20 20 53 55 42 33 0] 19490423DEFP1 SUB3
30 30 34 31 39 44 45 50 33 20 20 20 20 20 53 55 42 33 20 20 20 19500419DEP3 SUB3
30 25 44 45 S0 24 20 20 20 20 20 £2 55 42 22 20 20 20 20 20 21 19960705DEPY SUBZ2 1
45 50 35 20 20 20 20 20 53 55 42 33 20 20 20 20 20 31 39 339 33 9940531DEFS SUE3 1993
20 20 20 20 20 53 55 42 33 20 20 20 20 20 31 39 39 38 31 36 30 1102DEPG& SUB3 1998160
20 20 53 55 42 33 20 20 20 20 20 31 39 38 37 30 34 30 33 44 45 3DEFP7 SUB3 19870403DE
55 42 23 20 20 20 20 20 31 39 28 27 30 33 22 22 44 45 S0 29 20 Pg 192703222DEP
20 20 20 20 20 21 39 30 328 30 33 22 30 20 20 20 20 20 20 20 20 EZ 19080320
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
v
Unsigned: B:48,W:12336,L:1412509744 | ANSI / OVR /L [ Size: 2742
S TR B e T e S 100% W o
. . a2 Friday
[(ms [ @ BETTREERIEER | [ @ yiszons

Data Transformation Map Trace © 2007 IBM Corporation

Check the input data with a Hex editor. In this example the input data contains a hex 0d, Oa
which indicates carriage return/line feed between each record.

IBM Software Group Page 26 of 14



IBM Software Group

Common user errors

edidttre.out - Notepad
Edit Help

Format  View

Sometimes Notepad is better for searching the trace

=]

MBCE at entry: (0012cfbc). size = 580
FO93AF00 C9010000 54535445 53545F44
149435449 4F4E4152 59202020 20202020
20202020 20204454 54535445 53542020
20202020 20202020 20202020 20202020
0040:20202020 44202020 20202020 20202020
120202020 69556333
20202020
20202020

00006564
41322030
20202020

202
14D21200
20202020

020202

Find what

| TRODS2

[ Match case |[Cw ®D°"“V|

0 20202020
20202020
00000000

00000000

46532020
120202020
4E

4E4E5920
20202020

20202020
59594E20
AEQ00000 00000000 00000000
00000000 00000000
:4E002020
20202020
20202020
20202020

0202020

00000000
20202020
20202020
20202020
20202020
02020

3020204E 4E4E2020
20202020 20202020
20202020 20202020
20202020 20202020

0 20202020
20202020 20202020 20202020 2020414C
5048414E 55400000 00000000 01000000
0240 : 00000000 sae |
State info at entry: (00000000). size = 44 ——

GET THE INPUT PARMS

Dictionary name (TSTEST_DICTIONARY

Document name (DTTSTEST
: Syntax (@)

XML val ()

Map id
System O
Plan name
1 ew
<
XML EBCDIC ()

(=

(ediec32e)
el (A2

2 2.

(22 @2 s | @c. [mec.

Data Transformation Map Trace

© 2007 IBM Corporation

Lets take a look at the trace. Sometimes Notepad is better for searching the trace. Search

down for the TR0O052 error message.

IBM Software Group
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Common user errors

@ edidttrc_out - Notepad

VAICL: Leaf node reached at NMI0G.  value SUB3 B

VALCE Araldatesots s memnmnas v NM104 (NV) (level 6) index §
VAICL: validateElement: element name NM104 VAL D

VAICL: Leaf node reached at NM104. value "DEPQ -

VAICL: endSeement: reached end of segment # 26. id = NM104

VAICL: validateSet: reached end of loop at level 4 >—

VAICL: Entering FinalSesCheck at

VAICL: validateSet: reached end

VAICL: Enterins FlnaISegChack at level 4. loop id &1HL.)IDOD level 1. current sesment NMI1
3

loop level 2. current sesment NMI

e B R T T e T S ——— HL_LOOP N) C(level

VAICL: FindSeement: lookine for HL_LOOP at level 3. current level 3

VAICL: FindSegment: loop start HL_LOOP found

VAICL: FindSesment: reset loop start to "

VAIGL: FindSegment: current lsvel 3 ses = "HL ” current level 2 ses = "TRN =

VAICL: validateSet: seement HL_LOOP found in table

VAICL cbestson loon lavel 2 started <————————————————

VAICL: val idateSet: i _..HL (N) Clevel 4)

VAICL: FindSesment: looking for HL at level 4. current level

VAICL: FindSeement: current level 4 ses = “HL “ current level 3 ses = "HL
VAICL: val idateSet: sesment HL found in table

VAICL: besSeement: Sesment # 27, id = HL started

VAICL: bezSesment: level 4. nods HL. EDI olements FOUND

WAICLS vallidateSets 10t Sis s bon o ot HLO3 NV} (level 5) index 2

VAICL: validateElement: element name HLOS WAL |D

VAICL: Leaf node reached at HLOZ. value 23"
VAIGL: endSegment. roached end of Segment # 27. id = HLO3

VAICL: validateSet: reached end of loop at level 3 -

VATCE e hima ISesthecke Bl eve bl looplid kI, cloop, Texel Trmcurrentseementiil,
VAICL: FinalSesCheck: MANDATORY ses = “NM1 " skipped. required = M loopid = "&2NM1 “
EDIUTLOG: Message 1D: TROOBZ Sewerity: 4. File: G:\NEGZ\srovedivaicl. cep. Lina: 6574

le Edit Format Help
VAT WATTHATRSEE. s NM1_LOOP Ny (level 4) [~
VAICL: FindSesment locking for NMI_LOOP at level 4. current level 4
VAICL: FindSegment loop start NM1 LOOP found
VAICL: FindSesment: current level 4 ses = "NM1 “ current level 3 ses = "HL -
VAICL: val idateSet: sesment NM1_LOOP found in table
VAICL: beelLoop: Loop level 4 started <——————————
VAICL: validateSet: .. .. ... ____ . _____ _NM1 (N) (level 5)
VAICL: FindSesment: lockins for NM1 at level 5. current level 4
VAICL: FindSesment: current level 5 ses = “NMI " _current level 4 ses = "NM1 -
VAICL . .
L Keep searching until you see what
VAICL : vel 6) index 2 .
X you want. In this case DF AMM
VAICL : vel 6) index 3
VAICL -
VAICL
VAICL vel 6) index 4
VAICL : ement name (=

|=te & l[ @ -|= [®D

A
Data Transformation Map Trace

© 2007 IBM Corporation

Now we have found the TR0052 message we can search up for the value “Output (“. In this

case we are looking for the data format abstract message.
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Common user errors

@ edidttrc.out - Notepad

File Edit Format WView Help

- ... FASEGOUTRUTIENY) = (char) "N

_ . FANETPROFID (NV) = (char) ' |INB41 (Fina e )

ody (N

_MMTHLIREC (N}

C_ . MMTHLTRECID (NV) = (char) ~001" Find what:  [Output ( | [_Fnd e
TRADINGPART (NV) = ichar) ' TSTESTZ °
CRGVTPID NV} = (char) ' TSTESTI  ° 7
,ACFIELD(CN;") C(cha_)r) * AC0003" Direction Lancel
CFILLER (NV) = (char) ° ° Down |
CELIGBEGDATE (NV) = {char) ° 19950101 [ Match case St O
"ELIGENDDATE (NV) = {char) ' 10951231

. SUBSCRIBER (NV) = (char) °~ SUBSCRIBER3

- FAMILY (N

....DEPFIRSTNAME (NV) = dchar) 'DEP1

DEPLASTNAME (NV) = (char) °SUB3

. .DEPDOB_(NV) = (char) ~ 19490423

AMILY (N

. .DEPFIRSTNAME (NV) = dchar) ' DEP1
(NV) = (char) " SUB3

) = (char) " 19500419 . . . .

char) DEPS - This value unique in my test input

=
(NV) = (char) °SUB3
= (char) ~ 19960705

AMILY (N

_.DEPFIRSTNAME (NV) = (char) ' DEP4
DEPLASTNAME (NV) = (char) °SUB3

..DEPDOB_(NV) = (char) ~ 19940531

AMILY (N

.. DEPFIRSTNAME (NV) = (char) ' DEPS
(NV) = (char) °~SUB3

) = (char) " 19931102

= {char) ' DEP&
(NV) = tchar) °~SUB3
. = (char) "~ 19981603
AMILY (N
.. DEPFIRSTNAME (NV) = {(char) ' DEP7
DEPLASTNAME (NV) = (char) °SUB3
..DEPDOB_(NV) = (char) ~ 19870403
AMILY (N
..DEPFIRSTNAME (NV) = (char) 'DEP8
(NV) = (char) °SUB3
) = (char) ~ 19370322

= fdchar) ' DEP2
(NV) = (char) °SUB3
= (char) ~ 19080320

CLLLIIIIIIIIFAMILY (N
DEPF IRSTNAME (NV) = {char) ° =

- ]

Data Transformation Map Trace © 2007 IBM Corporation

This is the Source message after the parse.
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Common user errors

- ﬁ

File Edit Format View Help

,,,,,,,,,,,, EL IGENDDATE (NV) = f{char) '~ 19951231°
SUBSCRIBER (NV) = (char) ' SUBSCRIBER3
FAMILY (N)
.DEPFIRSTNAME (NV) = f{char) 'DEP1
DEPLASTNAME (NV) = (char) ° SUB3
DEPDOB (NV) = (char) ° 19490423
ILY (N)
DEPF IRSTNAME (NV) = dchar) 'DEP1
DEPLASTNAME (NV) = (char) °SUB3
DEPDOB (NW) = (char) °19500419°

ILY (N}

DEPFIRSTNAME (NV) = {char) ' DEP3
DEPLASTNAME (NV) = (char) °SUB3
DEPDOB (NW) = (char) ° 19960705
ILY (N)

DEPFIRSTNAME (NV) = dchar) 'DEP4
DEPLASTNAME (NV) (char) ° SUB3
DEPDOB (NW) = (char) ° 19940531°
ILY (N}

DEPFIRSTNAME (NV) = {char) ' DEPS
DEPLASTNAME (NV) = (char) " SUB3
DEPDOB (NV) = (char) °19931102°

ILY (N)

DEPFIRSTNAME (NV) = (char) ' DEPG
DEPLASTNAME (NV) = (char) " SUB3
DEPDOB (NW) = (char) ° 19981603"

E Investigate why this data is blank.

DF metadata definition? Input data?

ILY (N}

DEPF IRSTNAME (NV) = {char) 'DEP7
DEPLASTNAME (NV) = (char) ' SUB3
DEPDOBE (NV) = (char) ~ 19870403
ILY (N}

DEPF IRSTNAME (NV) = {(char) 'DEP8&
DEPLASTNAME (NV) = (char) ' SUB3
DEPDOBE (NW) = (char) ~ 19870322

ILY (N}
DEPF IRSTNAME (NV) = {char) ’DEP9
DEPLASTNAME (NV) = (char) ' SUB3
DEPDOBE (NV) = (char) ° 19080320
FAMILY (N}
DEPF IRSTNAME (NV) = {char) °
DEPLASTNAME (NV) = (char) °
DEPDOB (NW) = (char) ~
FAMILY (N}
DEPF IRSTNAME (NV) = {char) °
DEPLASTNAME (NV) = (char) °
DEPDOB (NW) = (char) ~

ILY (N}

DEPF IRSTNAME (NV) = {char) °
DEPLASTNAME (NV) = (char) °
DEPDOB (NW) = (char) ~

Data Transformation Map Trace

© 2007 IBM Corporation

Notice the FAMILY nodes in the abstract message. We need to investigate why this data is

blank. Is it the data format definition or are the values in the input data blank?
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- Data Format Record -

WebSphere Data Interchange for Multiplatfo
i/ File Actions Edit Mavigate View Window Help

&3] 55| 8| LB |l Sm—— @

= N N N T =T R

New.... | Oper. | Delete | Open Detail .| wiewDetal .|
Position | Type [ structure or Field Name | Occurs | Occurs Depending On | Field Contains Record 1D | Record ID | Data Type [ Field Length | Description |
1 Field MMTHL IRECID 1 AN = Alph c 3 Importe...
2 Field TRADINGPART 1 AN = 3 Importe..
3 Field RCVTPID 1 AN = 10 Importe. ..
4 Field ACFIELD 1 AC = trol 5 Importe..
5 Field FILLER 1 AN = T Importe...
& Field ELIGBEGDATE 1 AN = s Importe..
7 Field ELIGENDDATE 1 AN = 3 Importe. ..
8 Field SUBSCRIBER 1 AN = Alphanumeric 18 Importe..
B Structure FAMILY 15 Importe...

Are there more than 15 in the source
AMM or Input data?

Ready ’7’7’7

TP E s O e S S 7 o

A . - V@i Thursday
fl@s [@a [0 (@ [@e [Ee [Ea (S W Yo (@ [Eeo] BT T §ty o

LY
s

“Data Transformation Map Trace © 2007 IBM Corporation

This is the data format metadata definition. The FAMILY structure has a repeat count of 15. We
need to check the source abstract message and the input data to see if there are more than 15
occurrences.
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i i M|

File Edit Formst View Help

FAMILY (N} [=]
.DEPFIRSTNAME (NV) = (char) °DEPG E
. DEPLASTNAME (NV) = dchar) °SUB3 .
. DEPDOB (NV) = dchar) ' 19981603
AMILY (N)
.DEPFIRSTNAME (NV) = (char) °DEP7
. DEPLASTNAME (NV) = {char) ' SUB3
. DEPDOB (NV) = dchar) ' 19870403
AMILY (N)
.DEPFIRSTNAME (NV) = (char) °DEP&
. DEPLASTNAMI (NV) = dchar) °SUB3
. DEPDOB (NV) = dchar) ' 19870322
FAMILY (N
.DEPFIRSTNAME (NV) = (char) °DEP9
. DEPLASTNAME (NV) = {char) ' SUB3
. DEPDOB (NV) = dchar) ' 19080320
AMILY (N)
.DEPFIRSTNAME (NV) = (char) °
. DEPLASTNAME (NV) = dchar) . . . r) =
EEDIEL B0 = (SHac) This looks strange — no ending quote?
.DEPFIRSTNAHEC(N\;') :(Ccha)r) . N A d . b
. DEPLASTNAME NV) = (char) ~ ¥
Sl Sl : nd not 1n same abstract message
FAMILY (N Bl i 1 -t- th
. DEPFIRSTNAME (NV) = (char) ° =
.DEPLASTNAME (NV) = dchar) ° pOSI 10n as o €rs
.DEPDOB (NV) = d(char) °
AMILY (N)
. DEPFIRSTNAME (NV) = (char) ~
. DEPLASTNAME (NV) = fchar) *
.DEPDOB (NV) = d(char) °
AMILY (N)
. DEPFIRSTNAME (NV) = (char) ~
.DEPLASTNAME (NV) = dchar) °
.DEPDOB (NV) = d(char) °
AMILY (N)
. DEPFIRSTNAME (NV) = (char) ~
. DEPLASTNAME (NV) = fchar) *
.DEPDOB (NV) = d(char) °
= _FAMILY (N}
,,,,,,,,,,,, DEPFIRSTNAME (NV) = (char) ~
= r—— .
EDIUTCSD: Control Strins Name: DTS_TEST_EDT_U.
EDIUTCSD: Control Strins Address: GOB11020 Endlng quote
EDIUTCSD: DocSrc Address: 00B110A4, Offset: 00000084
EDIUTCSD: DocTre Address: 00B11134, Offset: 00000114
EDIUTCSD: EleSrc Address: 00B111C4. Offset: 000001A4
EDIUTCSD: EleTre Address: 00B11384. Offset: 00000364
EDIUTCSD: VarDsc Address: 00B11B9C, Offset: 00000B7C E
TS Sy e E S ; B TEen @ T 100% E% 2:35PM
: E , i
|20e |22 o[ @2 |35 - @ [ @e (@ [z [l = - @ | @@ /14005

© 2007 IBM Corporation

Looking at the trace again, notice the indentation for the FAMILY nodes. The last one looks
strange. It is not indented the same as the others which means it was placed as a child of a
different node. It is in a different hierarchical position. The value also looks strange the ending
quote is on the next line.
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@ [C\WDIServer 32\My Execution\TATTEST.APPLIN] - frhed \ =2} E
Fle Edit View Options Bookmarks Help \
000196 |20 20 20 53 55 42 31 20|20 20 20 20 31 39 30 644 45 50 3135 20 20 20 SUE 19040406DEELS =
0001b3 |53 55 42 31 20 20 20 20 20 31 33 38 37 30 39 20 0d O0a 30 30 31 54 53 45 SUBL 13870922 001TSTE
0001d0 |53 54 31 20 54 53 54 45 53 54 31 20 20 20 41 32 20 31 39 39 35 30 31 3% 31 ST1 TSTEST1  ACO00Z 13950101
0001led |31 39 33 35 31 32 33 31 53 55 42 53 43 52 49 20 20 20 20 20 20 20 44 45\50 [19351231SUBSCRIBERZ DEF
00020a |31 20 20 20 20 20 53 55 42 32 20 20 20 20 20 30 34 32 33 44 45 50 31 20 RO SUE2 19490423DEFL
000227 |20 20 20 53 55 42 32 20 20 20 20 20 31 39 35 39 44 45 50 3320 20 20 20 SUEZ 19500419DEF3
000244 |53 55 42 32 20 20 20 20 20 31 33 39 36 30 37 50 34 20 20 20|20 20 53 55 42 SUB2 19960705DEP4 SUB
000261 |32 20 20 20 20 20 31 39 39 34 30 35 33 31 44 20 20 20 20 53|55 42 32 20 20\2 19940531DEPS SUBZ
00027= |20 20 20 31 39 39 33 31 31 30 32 20 20 20 20 20 20 20 20 20 20 20 20 20 20 19931102 [}
000259b |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
0002b8 |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
0002d5 |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
00022 |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
00030f |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
00032c |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000349 |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000366 |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000383 |20 20 20 20 20 20 20 20 20 20 20 20 20 0d Oa 53 54 45 53 54 32 20 54 53 54 D01TSTEST2 TST
0003a0 |45 53 54 31 20 20 20 41 43 30 30 30 33 20 31 31 30 31 31 39 39 35 31 32 33 EST1  AC0003 199501011995123
0003bd |31 53 55 42 53 43 52 49 42 45 52 33 20 20 20 44 45 50 31 20|20 20 20 20 53 |1SUBSCRIBER3 DEF1 5
0003da |55 42 33 20 20 20 20 20 31 39 34 39 30 34 32 31 20 20 20 20 20 53 §5 42 33 U 19490423DEPL SUE3
0003f7 |20 20 20 20 20 31 39 35 30 30 34 31 39 44 45 20 20 20 53 55 42 33 20 20 20 19500419DEP3 UB3
000414 |20 20 31 39 39 36 30 37 30 35 44 45 50 34 20 53 55 42 33 20 20 20 20 20 31 19960705DEP4 SUB3 1
000431 |39 39 34 30 35 33 31 44 45 50 35 20 20 20 20 33 20 20 20 2020 31 39 39 33 |9940531DEPS SUB3 1993
000<44= |31 31 30 32 44 45 50 36 20 20 20 20 20 53 55 20 20 20 31 39 39 38 31 36 30 |1102DEP& E3 1998160
00046b |33 44 45 50 37 20 20 20 20 20 53 §5 42 33 20 31 39 38 37 30 32 30 33 44 45 3DEP7 UE3 19870403DE
0004868 |50 38 20 20 20 20 20 53 55 42 33 20 20 20 20 7 30 33 32 32 44 45 50 39 20 P8 ST 19870322DEF3
000425 |20 20 20 20 53 §5 42 32 20 20 20 20 20 31 239 32 30 20 20 20 20 20 20 20 20 B3 19080320
000452 (20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
0004df |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
0004fc |20 20 20 20 20 20 20 20 20 20 2 20 20 20 0 20 20 20 20 20 20 20 20 20
000519 |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000536 |20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000553 |20 20 20 20 0d 0= 30 30 31 54 53 54 45 54 53 54 45 53 54 31 20 20 20 . .001TSTEST2 TSTEST1
000570 |41 4 30 20 31 39 3% 35 30 31 30 31 31 32 33 31 53|55 42 §3 43 52 ACD004 1995010113951231SUBSCR
000Sed |43 42 4% 34 20 20 20 20 20 20 44 45 50 20 20 53 S5 42|34 20 20 20 20 |IBER4 DEF1 SUB4
000Sa=a |20 31 33 33 34 32 33 44 45 50 31 20 20 55 42 34 20 20 20 20 20 31 39 | 19430423DEF1 UB41 13
000Sc? |35 30 30 31 20 20 20 20 20 20 20 20 20 20 20 20 20 20|20 20 20 20 20 (500419
20 20 20 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
zo 20 24 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
zo 20 24 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
zo 20 24 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
zo 20 24 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
zo 20 24 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
zo 20 24 20 20 20 20 20 20 20 2O 20 20 20 20 20 20 20 20 20 20 20
zo 20 20 z0 20 20 20 Z0 20 Z0 20 20 20 z0 z0 20 20 20 20 Z0 20 Z0
mE
,L:1412509744 | ANSI f OWR /L [ Size: 2742
= =T il 220eM
@z[d] Friday
o= - | EETE T (R [ P | @ yiyzos

Data Transformation Map Trace

© 2007 IBM Corporation

If there is something you can search on that is unique to your input, this can be also be used to

identify the specific problem.
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Client Print Preview can also help

System

WDI33GBL = e

&

EVRT- PRI - . |

IBM Software Group

© 2007 IBM Corporation

Using the WDI Client Print Preview can also be helpful especially with the data format metadata.
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J=lEs)

File Edit view Favorites Tools Help

D sk S EEERER o) S search 5% Favorits &2 =2~ ,Z‘\g = - L 3

&

: address

mt“ OT DeInnea; I~
Field Delimiter:

Record Delimiter: No Delimiter L
Code Page:
Comments:
Record MMTHLIREC

Record ID 001 Maximum Repeat Unlimited Repeat

Field MMTHLIRECID Type AN = Alphanumeric Length 3 Position
Field TRADINGPART Type AN = Alphanumeric Length 8 Position
Field RCVTPID Type AN = Alphanumeric Length 10 Position
Field ACFIELD Type AC = Application Control Length 6 Position
Field FILLER Type AN = Alphanumeric Length 1 Position
Field ELIGBEGDATE Type AN = Alphanumeric Length 8 Position
Field ELIGENDDATE Type AN = Alphanumeric Length 8 Position
Field SUBSCRIBER Type AN = Alphanumeric Length 18 Position

Structure FAMILY

Occurs 15

Field DEPFIRSTNAME Type AN = Alphanumeric Length 9 Position 63

Field DEPLASTNAME Type AN = Alphanumeric Length 9 Position 72

Field DEPDOB Type AN = Alphanumeric Length 8 Position 81
Structure FAMILY Length 26

Record MMTHL1IREC Length 452

P
D

x]

© 2007 IBM Corporation

In the print preview you can check the length of the input record. Also note the Record

Delimiter. The record length is 452 and there is no record delimiter.
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[C:\WDIServer32\My Execution\TATTEST.APPLIN] - frhed = E
File Edit View Options Bookmarks Help
ooo Cut. Crl+x 2 3 3 3 403 3 3 3 41 s 3 2 2 20 2z SUEL 1994053 1DEFS ;‘
oo Copy. crl+C 3 3 3 3 0 03 4 4 5] 2 2 2 2 2 53 5 SUEBL 19931102DEFE sSu
ooo 3 3 3 4 45 © 3 2 2 2 2 s 5] 4 31 2 El 19981603DEF7 SUEBL
ooo o 4 1 s 3 z0 2z 2 2 2 s 4 3 2 2 20 2z 19870403DEFS SUEL
ooo +! 3 2 2 2 z0 2z 5] 5] 4 2 2 2 2 2 3103 13870322DEF3 SUEL 19_‘
2 2 2 s 55 4 3 2 2 2 2 3 3 3 373 0S03Z20DEFLO SUEL 13370
I 403DEF11 SUEL 19800324
Delet= DEF1Z SUBL 1997121 2DEP
Select all cul+a iz s 19070230DEF14
Select block. . Cirl+E Bl %3832406DEgé§TSTE
Fill selection with.. Curl+shift+F ST1 TSTESTi_ _ ACOunoz 13380101
Toggle hex/character editing B¥o sl R I s sDEEL
Toggle keyboard Insert/Overwrite mode SUEBZ 19500419DEF3
Read-only mode onjoff SUEZ 193807 05DEF4 5
z 195405310EFE SUEZ
Find... 1383110z

0
0

0

0

0

0

0

0

0

0

0

0

0

3 Replace...
0| Findnext

g Find previous
3 seTe..

0

0

0

0

0

0

0

0

0

0

0

0

001TSTESTZ TST
EST1 ACOO0Z 199E501011395123
I

10000RDDO0C0O00ONOONKYWOOOCO00000CAVODWONOONDD0WHYD
IORERWOOO00C0ONSO0WOOWOOOOS00000NRREO WO TRORWO DRS00
IOONCADOOCOROWNORERDDLOCOOOO000ROWONOCIODN00NoWH
IO0ORNOOO00WODNOCNNORD 000000000 JNOWHGO00N0 000 WY
OO LOOO0000ONO00MNDWo0 0000000 CHNDD R L R F O L O 0 D)
10C00UYNDOO0O00WOoNCONONFEOCO000000NEAANOOROODNOOOND
1OWONC000C00WROONCO00OADCO000000ONRYNOCOURDR WO AN
IOMORADOOCONUROWWORARWOCO00000000NooNORON00Na0Mny
FONONWOOO0000WSONOON0ASCOC000000RALSOLENOOONIOOR
31O 00 U7 00 0 0 0 0 T T 0 0 0 0 0 0 020 62 B ) 01 0
IORWWADDOOOOWDOONOODRNOCOO00000O0MNNO D M-dR 0 R 60 M
IOONENOO0000NdROWNORRLOO0000000000W0O00HY00 N0 0N
I0CONWWDOO00ONOWOCNODWASCOODD000WOWESUOHANDOONT00
I0CENADOOCOORANOCNOOUNOCOOO000CNOONoNEANREOROR0ON
I0C0ONREOO000ONORRORWONOOoO0O00000NO0000ROONDWOONO0
1000WO0000000WRYCONORASCO0OD000RNWORAERLORAWYOONOD
U ONOOO00000NOWNRONNRASSOS000000NO00RNA00e0wa0N0

3 20 31 3 3E 30 31 3 31 39 29 35 31 33 3
20 20 20 20 20 20 20 44 4 31 20 20 20 20 20 E 1SUESCRIEERE EF1 E]
e o 30 34 33 33 44 45 B0 31 2 20 20 20 53 55 42 33 1] 1549042 3DEFL SUEZ
File propertes. . 39 44 45 B0 33 20 20 20 2 E3 EBE 42 33 20 20 2 19E004159DEFE SUES
E0 34 20 20 20 20 20 53 E 33 20 20 20 20 20 3 18960705DEPL SUES 1
20 20 20 30 B3 55 42 33 2 20 20 z0 31 39 39 3 98405 31DEFE SUES 1893
z0 B3 EE 42 33 20 20 20 2 31 39 29 38 31 36 3 1102DEFE SUER 1898160
42 33 20 20 20 20 20 31 3 37 30 24 30 33 44 4 3DEF7 SUB3 18870403DE
4 E0 & 20 20 0 20 53 20 20 20 20 20 31 33 38 37 3 32 32 44 45 EO0 39 20 F3 SUB3 1987032 3DEFS
0004=5 20 20 20 20 E3 55 42 33 z0 2o 31 39 30 & 30 33 32 3 20 20 20 20 20 20 2 SUB3 19080320
0004c2 20 20 20 20 20 20 20 20 20 20 20 20 20 20 0 20 20 2 20 20 Z0 20 20 20 2
0oo4df | 20 20 20 20 20 20 30 20 20 20 20 20 20 20 0 20 20 2 20 20 Z0 20 20 20 2
0oo4fc | 20 20 20 20 20 20 30 20 20 20 20 20 20 20 0 20 20 2 20 20 Z0 20 20 20 2
000519 20 20 20 20 20 20 20 20 20 20 20 20 20 20 0 20 20 2 20 20 Z0 20 20 20 2
000536 X0 20 20 20 20 20 30 20 20 z0 20 20 20 20 0 20 20 2 20 20 20 20 20 20 2
000EE3 | X0 20 20 20 20 20 0Od Oa E4 B3 54 45 E3 54 32 20 54 E 45 B3 B4 31 20 20 2 001TSTEST2 TSTESTL
000570 41 4% 30 30 30 34 20 31 3031 30 31 31 29 33 35 31 3 31 B3 EE 42 53 43 E2  ACO004 1995010119951231SUBSCR
000E8d 49 42 45 52 34 20 20 20 20|44 45 50 31 20 20 20 20 2 ES 42 34 20 20 20 2 TEER4 DEF1 SUE4
000E=a 20 21 35 4 39 30 34 32 E0| %1 20 20 20 20 0 53 55 4 20 20 20 0 20 31 3 15490423DEFPL SUE4 19
0005c? | 35 30 30 34 31 33 20 20 20|20 20 20 20 20 20 20 20 2 20 20 Z0 20 20 20 2 500413
. r -
|Selected: Offset 914=0x392 to 1368=0x558 (455 byt=(s)) [ ANSI { OVR fL [ Size: 2742
EElee  2:52PM

Geli]  Friday
| # @ 1/14/2005

Data Transformation Map Trace © 2007 IBM Corporation

Now we need to return to the input file. With this hex editor, | can go to my record and select it
for copy.
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0 S 20 20 2020 SUBL 19940531DEFG |
a 20 20 20 53 55 | SUBL 19931102DEPS ST
i 0 53 55 42 31|20 |B1 19981603DEP7? SUBL
Prefix offsets with « for hex. 3 55 31 20 20 20 20 1987040 3DEPS SUEL
il 20 20 20 20 31 39 | 19870322DEP9 SUBL 19 _|
Sl e of ek il 20 31 3% 39 37 30 |0E0320DEF10 SUBL 19970
|32 il 33 30 30 33 32 34 |403DEP11 SUB1 19800324
2 31 31 32 44 45 50 DEP1z SUBL 19971212DEP
o 30 45 50 31 34|20 |13 SUBL 19070230DEF14
Copy how many bytes 50 35 20 20 20 20 SUB1 19040406DEF1S
&+ Copy up to and including offsst ] 30 31 54 53 54 45 |SUB1L 19870922 001TSTE
e 20 39 35 30 31 30 31 |ST1 TSTEST1 _ AC0002 19950101
53 20 20 20 44 45 50 |19951231SUBSCRIEERZ LEP
20 33 45 50 31 20 20 |1 SUE2 19490423DEP1
" Number of bytes to copy 20 50 20 20 20 20 20 SUB2 19500419DEP3
455 39 20 20 20 53 55 42 |SUB2 199607 05DEP4 SUB
35 20 S5 42 32 2O 20 2 19940531DEPS SUBZ
20 20 20 20 20 20 20 19931102
20 20 20 20 20 20 20 20 2020 20 20 20 20 20 20 20 20
Cancel 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 2020 20 20 20 20 20 20 20 20
20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
D0030E | 20 20 20 20 20 20 20 20 20 2020 20 20 20 20 20 20 20 20
Do03ze 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000345 | 20 20 20 20 20 20 20 20 20 2020 20 20 20 20 20 20 20 20
000366 | 20 20 20 20 20 20 20 20 20 2020 20 20 20 20 20 20 20 20
000383 20 20 20 0d D= 30 30 31 54 53 54 45 53 54 32 20 54 53 54 . .O01TSTESTZ TST
0003a0 15 30 33 20 31 39 39 35 30 31 30 31 31 39 39 35 31 32 33 ESTL  ACO003 199501011995123
0003bd | 31 33 20 20 20 20 20 20 20 44 45 50 31 20 20 20 20 20 53 |1SUBSCRIBERZ DEF1 £}
0003ds 55 33 30 34 32 33 44 45 50 31 20 20 20 20 20 53 55 42 33 UB3 19490423DEPL SUB3
0003E7 20 31 39 44 45 50 33 20 20 20 20 20 53 55 42 33 20 20 20 19500419DEF3 SUEZ
000414 20 45 50 34 20 20 20 20 20 53 55 42 33 20 20 20 20 20 31 199607 05DEP4 SUE3
000431 39 20 20 20 20 20 53 55 42 33 20 20 20 20 20 31 39 3% 33 |9940531DEPS SUB3 1993
o004ds | 31 20 20 53 55 42 33 20 20 20 20 20 31 39 39 38 31 36 20 1102DEP6 SUB3 1998160
00046b 33 55 42 33 20 20 20 20 20 31 39 38 37 30 34 30 33 44 45 3DEF? SUE3 19870403DE
000488 50 20 20 20 20 20 31 39 38 37 30 33 32 32 44 45 50 39 20 P8 SUEZ 19870322DEP3
000425 20 20 20 31 39 30 38 30 33 32 30 20 20 20 20 20 20 20 20 SUE3 19080320
D004c2 | 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
0004df | 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
D004fc | 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000518 | 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000536 | 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20
000553 20 54 53 54 45 53 54 32 20 54 53 54 45 53 54 31 20 20 20 .0O01TSTEST2 TSTEST1
000570 41 30 31 30 31 31 39 39 35 31 32 33 31 53 55 42 53 43 52 ACO004 19950101199512315UBSCR
000584 | 43 20 44 45 50 31 20 20 20 20 20 53 55 42 34 20 20 20 20 |IEER4 DEF1 SUE4
0005as |20 50 31 20 20 20 20 20 53 55 42 34 20 20 20 20 20 31 39 | 19490423DEP1 SUBa 19
000Ec? | 35 20 20 20 20 20 20 20 20 2020 20 20 20 20 20 20 20 20 (500419
“ ks
|Selected: Offset 914=0x392 to [ ANST /OVR /L [ Size: 2742
ey SUPEEE B s
gl rricay
'] = '[ @ a ][ = ") 1/14/2005

© 2007 IBM Corporation

The copy will show me the number of Bytes. This shows the record length is 455 which does
not match the data format definition. There is also a record delimiter and the data format says
there is no record delimiter. We need to update the data format definition.
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E pre
File Edit View Insert Format Help o~

SH SR M LR W N

The best rule match for the document was: map name DTS_TEST_EDI_
TSTEST1, usage indicator P, document DITSTEST, dictionary name TST
Message: UT0008 Severity: 00
Map name being processed: DTS_TEST_EDI_O2.
Message: TROOS2 Severity: 04
Mandatory Segment missing. Internal Irading Partner ID and Data Format = ISTES

sending TP nickname ANY, receiving TP nickname
DICIICNARY, syntax adsf.

ISTEST1, X12V3R7270. Transaction

handle, code., mode, and function = output walidation. Interchange. group and tran®egrion control numbers = (not
assigned). Current Loop-ID and repetitions = &1HL - 10 — 1 - 1. Standard segment an é = w1

Message: TROOS52 Severity: 02
Mandatory segment missing. Internal Trading Partner ID and Data Format = TSTEST R7270. Transaction
handle, code, mode, and function = output walidation. Interchange, group and transaction cofitrol numbers = (not
assigned) . Current Loop-ID and repetitions = &1HL - 11 — 1 - 1. Standard segment and field ID = NM1.

Message: TROOS2 Severity: 02
Mandatory segment missing. Internal Trading Partner ID and Data Format — TSTEST2/TSTEST1, X12V3R7270. Transaction
handle, code, mode, and function = output walidation. Interchange, group and Transaction control numbers = (not
assigned) . Current Loop-ID and repetitions = &1HL - 12 — 1 - 1. Standard segment and field ID = NM1.

Message: TRO0S52 Severity 0%
Mandatory sSegment missing. Internal Trading Partner ID and Data Format = TSTEST2/TSTEST1, X12V3R7270. Transaction
nandle, code, mode, and fumction = output walidation. Interchange, group and transaction control numbers = (not
assigned). Current Loop-ID and repetitions &1HL - 13 — 1 - 1. Standard segment and field ID NM1.

Messaqg: TRO052 Severity 0%
Mandatory segment missing. Internal Trading Partner ID and Data Format = TSTEST2/TSTEST1, X12V3R7270. Transaction
nandle, code, mode, and fumetion = output walidation. Interchange, group and transaction control numbers = (not
assigned). Current Loop—ID and repetitions &1HL - 14 — 1 - 1. Standard segment and field ID NM1.

Message: TROOS52 Severity 04

Mandatory segment missing. Internal Trading Partner ID and Data Format = TISTEST2/TSTEST1, X12V3R7270. Transaction
handle, code, mode, and function = output wvalidation. Interchange, group and transaction control numbers = (not
assigned). Current Loop—ID and repetitions = &1HL - 15 — 1 - 1. Standard segment and field ID = NM1.

iAudic Trail Report -Datalnterchange Uctility— Date: 05/01/14 Time: 14:43:08 Page: 00002

Message: TROO52 Severity: 02
Mandatory segment missing. Internal Trading Partner ID and Data Format — TSTEST2/TSTEST1, X12V3R7270. Transaction
nandle, code, mode, and function = output walidation. Interchange, group and transaction control numbers = (Dot
assigned) . Current Loop-ID and repetitions = &1HL - 1 — 1. Standard segment and field ID = NM1.

Message: TRO052 Severity: 02
Mandatory =s=gment msslng. Internal Trading Partmer ID and Data Format = TSTEST2/TSTEST1, X12V3R7270. Tramsaction

<l == it - ==

For Help, pressF1

%
‘Data Transformation Map Trace © 2007 IBM Corporation

This is the next execution after the data format definition was corrected. We now have a
TRO0052 message on a different segment. The cycle begins again to determine where the
problem is located.
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File Edit View Insert Format Help

DM S #4 L @ B

NALUL: ValilOacteset: . ... ... ... TENUZ \Nv] lilevei =) inaex s =]
VAICL: validateElement: element name PEROZ VALID

VAICL: Leaf node reached at PERO2, value "QUEST EDI SERVICES”

VATCL: validateSeT: ............ PEROS (NV) (lewel 2) index 4

VAICL: validateElement: element name PERO3 VALID

VAICL: Leaf node reached at PERO3, value "TE"

VATCL: validateSet: ... = .PERO¢ (NV) (level 2) index 5

VAICL: validateElement: element name PERO4 VALID

VATICL: Leaf node reached at PERO4, value "6104547777"

VATCL: walidateSet: reached end of loop at lewel 0 >——————————

VAICL: Entering FinalSegCheck at level 1, loop id &£1NM1, loop level 1, current segment PER

VAICL: walidateSec: ......NM1_LOOP (M) (level O)

WAICL: looking for NM1 LOOF at level 0, current level O

VAICL: loop scarc NM1 LOOF found Abend on a trace statement
WAICL: current level 0 seg = "NM1 o

VATICL: validateSet: segment MM1_LOOP found in ctable

VAICL: begloop: Loop level 0 started <—-————————————=c

VATICL: validateSet: ......... WML (M) (level 1) _

VATICL: FindSegment: looking for NM1 at level 1, current lewvel O Work around - Remove
VAICL: FindSegment: current level 1 seg = "HMIL " current lewel 0 seg = "NML .
WAICL: validateSet: segment NM1 found in table TRACELEVEL frOm execution
VAICL: begSegment: Segment # &, id — NM1 stazted

VAICL: begSegment: lewel 1, node NM1, EDI elements FOUND

VAICL: wvalidateSet: ............ NM101 (NV) (level 2) index 2

VAICL: walidateElement: element name NM101 VALID

VAICL: Leaf node reached at NM101, value "40"

VAICL: walidateSet: = _NM102 (NV) (level 2) index 3

VAICL: walidateElement: element name NM102 VALID

VAICL: Leaf node reached at NM102, value "2"

VAICL: walidateSet: ............ NM103 (NV) (level 2) index 4

VAICL: walidateElement: element name NM103 VALID

VAICL: Leaf node reached at NM103, value "M—Care"

WAICL: validateElement: element NM10300 field contains invalid data Signal 11 received — exiting...
Throwing exception:

Message: Signal received

Sup text:

EDIMB: Exception caught by main — 1227576

For Help, press F1

© 2007 IBM Corporation

With abends you can possibly find a work around. If you go to the end of the trace you can try to
determine what processing step was executing. With this particular abend the actual trace
statement caused the abend and by turning the trace off the abend was avoided.
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